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< 20,700
Al 82,800
307 glz2tol & 172,500 164,670 7,830
J| 69,000
< 20,700
Al 82,800
10 AL SXAIEEE 2 H EX 172,500 164,670 7,830
OREslte 188 23 29|
172,500, 000& 14! 172,500
J| 69,000
< 20,700
Al 82,800
RESOls 88 25 oddl A& 36,667 0 36,667
< 7,334
Al 29,333
307 gl2tol & 36,667 0 36,667
< 7,334
Al 29,333
10 AL SXAIEEE2EH EX 36,667 0 36,667
ORES0s 188 5 oddl XN&
36,667,000 x 14 36,667
< 7,334
Al 29,333
StiiOloliOls &H 299 179,650 172,945 6,705
J| 71,860
< 21,558
Al 86,232
307 gl2tol & 179,650 172,945 6,705




EA: ES0tS
B FHo)E O 25
e Ol sgd= (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Pl 71,860
= 21,558
Al 86,232
10 MM SAANEEHESIGHEX 179,650 172,945 6,705
Osttimoiols & 23l
179,650,000 = 14! 179,650
J| 71,860
& 21,558
Al 86,232
OISYERAE 29 4,608,770 4 545,738 63,032
307 2iz2tol & 4,608,770 4,545,738 63,032
10 M3 SAANEEHESIGHEX 4,608,770 4 545,738 63,032
O0lsU=R AL 29| 4,608,770
> Ao 944,679,440 1Al 944 680
DANEFRA 930, 123,360 « 1Al 930, 124
DRFOISHH 1,050,309, 360 =14l 1,050,310
>ASFA=0LE 1,683,655,920& x4l 1,683,656
MIIETAE 29 (I SI A DAL X)) 4,800 14,400 A 9,600
& 960
Al 3,840
307 giztol & 4,800 14,400 A 9,600
& 960
Al 3,840
11T A EXAIEEX 4,800 14,400 A9,600
OM LA DAL XIS (LOFAFE)
4,800,000 « 1Al 4,800
= 960
Al 3,840
B30l MEotd X& 435,890 353,530 82,360
& 87,178
Al 348,712
301 et A =2 435,890 353,530 82,360
&< 87,178
Al 348,712
01 Al E & A 462 435,890 353,530 82,360
OXgd=Z2 200,000,000& * 1Al 200,000
o= 40,000
Al 160,000
O=£=st &l 5,250,000 =14l 5,250
& 1,050
Al 4,200
OsgEiey| 170,640,000 1Al 170,640
=} 34,128
Al 136,512
OtjstMetor™d 2 60,000,000 x 14! 60,000
= 12,000
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EA: ES0tS
HEM: FAHS 0l 25
S oSS EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Otsz34al XH(SHI=) 783,750 663, 100 120,650
== 783,750
301 et A= 783,750 622,725 161,025
& 783,750
01 Al E & A %52 783,750 622,725 161,025
O0lsZ24 MIIIE(EEIE)
783,750,000 * 1Al 783,750
& 783,750
OSZA XA (YEES) 650,248 637,500 12,748
= 130,048
Al 520,200
301 et M= 650,248 595,000 55,248
= 130,048
Al 520,200
01 Al E& A %52 650,248 595,000 55,248
O0t=2A dIIIE(EEIIE)
650,248, 0002 * 14! 650,248
= 130,048
Al 520,200
Ols=EXAE JIsEBL(HHE22) 161,880 32,000 129,880
J| 80,940
< 24,282
Al 56,658
402 SI2FXHE0| ™ 161,880 32,000 129,880
J| 80,940
= 24,282
Al 56,658
02 QIZEXIE A E X (0| XM THH) 161,880 32,000 129,880
OOs=EXAIAE JisEd 161,880
DAY 22 WAH 100,000,000 * 14! 100,000
J| 50,000
= 15,000
Al 35,000
DAMNEFE OlsS4 HA A X
13,880, 000& = 1Al 13,880
Dl 6,940
o=t 2,082
Al 4,858
DAMNESEE HNHE S HES
22,000,000& x 14! 22,000
J| 11,000
= 3,300
Al 7,700
DSHASE QAT AIRA =22 S B
= 10,000, 000& » 1Al 10,000
Dl 5,000
= 1,500
Al 3,500
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Off &t 24
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Il

= M

16,000
8,000
2,400
5,600

j=}
0
1
o0
>
0

= W

20,735,240
16,588,200
1,244,110
2,902,930

17,214,610

3,520,630

= W

20,735,240
16,588,200
1,244,110
2,902,930

17,210,560

3,524,680

20,735,240,000& 14!

= HmnH

20,735,240

20,735,240
16,588,200
1,244,110
2,902,930

17,210,560

3,524,680

= N H

4,011
2,808
361
842

4,011

= Hn W

4,011
2,808
361
842

4,011

4,011,000 *14|

= N H

4,011
4,011

4,011
2,808
361
842

4,011

He
]
0B
]
o
o
>
i
4
ila
>
0

= N H

352,800
282,240
14,112
56,448

212,369

140,431

= N H

352,800
282,240
14,112
56,448

212,369

140,431

OEs&Ez0ts IHg=Y X&

352,800,000& * 14!

= W

352,800

352,800
282,240
14,112
56,448

212,369

140,431

dAd Xisots MHEXA

31,607

156,270

16,337




fAH: EE0tS
M HAHES Ot BS
©el: OtSY R o E)
= _ — d =
BB - S (31) - MRAY - BES e =F)
= 22,125
< 1,896
Al 7,586
307 i+l & 31,607 15,270 16,337
= 22,125
< 1,896
Al 7,586
11T MISXASEX 31,607 15,270 16,337
OZAHAEX SOt s IHE 31,607,000 » 14! 31,607
= 22,125
< 1,896
Al 7,586
ZAE(0LS) =2 A 516,000 0 516,000
= 464,400
< 36,120
Al 15,480
307 21201 A 516,000 0 516,000
= 464,400
< 36,120
Al 15,480
11T AR S XA E = 516,000 0 516,000
OBHEANH(IS) == =
516,000,000& =14 516,000
= 464,400
< 36,120
Al 15,480
Ot LSAIE BSAXR 22X = 194,040 0 194,040
< 38,808
Al 155,232
301 LA F 194,040 0 194,040
< 38,808
Al 155,232
12 J|EtE 43 194,040 0 194,040
OOSLFAIE SAL SX=E
194,040,000 = 14! 194,040
= 38,808
Al 155,232
& gIFd(BE0ts ) 122,917 0 122,917
2YH(E|]0ts1) 51,326 0 51,326
A2YH(ES0S ) 51,326 0 51,326
101 @124 dl 51,326 0 51,326
01 2= 50,444 0 50,444
oAt 224 10,509& * 1621 *300 Al 2+ 50,444
03 I AHA2ZZ2HE > 882 0 882
og&Ez24Y 882
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71,591

39,731

36,176

3,555

18,360
18,360

3,600

3,600

9,900
9,900

H3r
Wikd
RIS

Off &t 24

882
71,591
71,591

39,731
36,176
26,384
11,984

14,400

9,792
9,792

3,555
3,555
3,555

18,360
18,360
15,360

3,000

3,600

3,600
3,600

9,900
9,900
7,800
2,100

K4
H
oF
3D
0F
iz

o
oF
A
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14,6973 12«60 Al 2+
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0
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01 At 22l bl

Al
Y
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0
x
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<123
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600, 000
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BHOl EYH
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=
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0H
H0
A0

Al
Ay
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144

2l *
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KR
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405 Tt
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2«6 CH

=
o

1,300,000
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